1. Tnangles ABC and DEF are drawn below.
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If AB=9, BC = 15, DE =6, EF = 10,
4B = ZE which statement is true?

and

XY /£CAB= /DEF
AB FE

Zz CB ~ DE

(® A4BC ~ ADEF
AB FE

A DE ~ CB

2. The ratio of similarity of A BOY to A

If BO =x+3 and GR = 3x — 1, then the length of
GR1s
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3. Tnangles RST and XYZ are drawn below. If

RS=6,8T=14,XY=9,YZ=21,and LS = ZY,1s
ARST similar to AXYZ? Justify your answer.
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Topic 9: Similarity
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4. In ARST shown below, altitude SU is drawn to

RT at U.
S h 3o
T2 T L
h '{_::17?_ - '( 3 Lo
i \ | J =2
R 30 T K m = RS B
N TR
If SU=h, UT = 12, and RT = 42, which value of & = Ao
will make A RST a right triangle with ZRST as a
right angle?
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5. To find the distance across a pond from point B to
point C, a surveyor drew the diagram below. The
measurements he made are indicated on his
diagram.
230 230+% 5
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Use the surveyor's information to determine and
state the distance from point B to point C, to the
nearest yard.




]

opic 10: Proofs/Congruency

1. Given: AABE and A CBD shown in the diagram
below with DB = BE
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Which statement is needed to prove
AABE = /A CBD using only SAS = SAS?
1 ZCDB= /AEB

2 ZAFD= /EFC
(® 4p=cE
4 AE=CD

2 In the diagram of ALAC and ADNClbelow,
~"IA=DN,CA=CN,and DAC 1 LCN.
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a) Prove that ALAC = ADNC. LFNC bre . -
b) Describe a sequence of rigid motions that will Fight AS
map A LAC onto ADNC. @ ALac Y D m = L
ADNC
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3. Given: Parallelogram ANDR with AW and DE =
bisecting NWD and REA at points /7 and E, o J— © [t vt
respectively L
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Prove that AANW = ADRE. Prove that (& A WPE s Eo gl :: /7]
quadrilateral AWDE is a parallelogram. o [7 2 2T R
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4. Given: Parallelogram ABCD, EFG, and diagonal
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Prove: ADEF ~ ABGF i ,
(5) ADEF ~ AR ¢F | &  AA
5. Two right triangles must be congruent if 1
1  anacute angle 1n each triangle is congruent - =2 preves AA
2 the lengths of the hypotenuses are equal - v/ <./ < Jo.c for 1y
(3) the corresponding legs are congriient )
4  the areas are equal




